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Q1 vw aFg =1 REw 7FT 32,300 AR wfewrd amr 26% ¥ T W avg F1 AT 71,666 # &= A, &
gifAreT gided =4 gem?

Ans X 1. 10% oIS
v 2 10% =
X 3. 6.25% I
X4 6.5% giar

Question ID : 65497816975
Chosen Option : 2

Q.2 300 & 400 ¥ &= $r T FErHt = dTEa Faar geT e 6, 12 3k 16 ¥ felee w9
ST AT &= 87

Ans 1. 720
<2 586
<3 632
X4 764

Question ID : 65497816985
Chosen Option : 1

Q.3 & T 7 9 % & 5 9T F T FEUET A 3R B F RS seuwAT F AAfG @9 Je o
#r FEEr ST AT A F| AE F TG Piiaw HT 3T gERE w2 T 3ea7 A

#eara Al B # ad 2014 & 2018 % Ao

E araifia Frr avd arEt € @
& = e = 325
350
E 300 0 o 260
%0
250 25 s
‘E 200 160
150
£
50
0
’ 2014 2015 2016 2017 2018

® HEITTA = Hew B

HEAT A #2014 3T 2016 F 2T AR @ T ol @ gE, "ew B A wafr ai=t ast
T B T o #r itee T i e 9w (oaeee ¥ Te me &) B2

Ans X1.138.4%
X2 127.6%
<3.185.7%
4 152.3%

Question ID : 65497816990
Chosen Option : 4
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Q4 vw = Fr P 3k Q A & & #r arar F 1 9 30 e #7997 w9 ¥ o ug s weew
magmaﬁmmpmommamam#mmm

AN K11 der 36 fwe
X2 1 wer 12 fAee
X3 1 ger 24 A=
v 4 1 wer 48 Bae

Question ID : 65497816969
Chosen Option : 4

QS5 vF arg F1 HfFT HET 400 ¥ T T W 20% N GE IF & a¢ gEwaN F 348 f gl g
¥ oty = s = Hifee?

Ans »1.1319
23

x2 151 %
23

x3 141 %
23

x4 1719%
23

Question ID : 65497816972
Chosen Option : 1

Q.6 v FEF TSR FA F AT A HAT F W-FT T §1 A 97 FowOT I1er TR W T9w,
& T T A e H vH-E F aUat g F Fe S A T 6N aF e F a9 g

g ffFT

Ans  X1.18 : 11
v2 7 :24
<311 : 18
X424 .7

Question ID : 65497816984
Chosen Option : 2

Q7 vw =ofFE T75.000 Uy, 7% FEURT SIS W3 TS F AT R W I e R B F 5% F
s 3 Fu F v suw aar 31 3@ e wfy @ #) g2

Ans 1. 5000
X 2. 6,000
v 4,500
X 4. 3,500

Question ID : 65497816980
Chosen Option : 3
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Q8 A B & 7 0F Fow FAA ¥ i sEOT I OF FH F W A A B F 36 R FH A
mﬂm%tmmmmﬂgc#aﬁs@fm%m%maﬂmﬁﬂﬁmm

Ans

1
X1 5=
2

2
X2 4—
5

2
&3 5=
55

1
<4 33—
2

Question ID : 65497816967
Chosen Option : 3

Q.9 = serT-aEET HEAT ¥ UEer d wEmst = stwd, sl T & @ e § R wh ant st
&1 HrEa 55 §1 9gelr A HEarsHt &1 deTee fegar 7

Ans X1.172
X2 165
3 198
x4 153

Question ID : 65497816970
Chosen Option : 3

Q.10 =fy Hwmrad 52, 47, 20 AR 19 T 4F & ¥ x AT AV & W IFR ToA HEAC FARTES Gl §
& (x+4) 3R (x-8) & T FeAEIE T FET?

Ans X 1. 10
v 2 8
X3 9
X412

Question ID : 65497816978
Chosen Option : 2

Q1 v e $ 748, vk g7 A Bew H 35 §) g7 H AW 37 T N g F v § S
&rFer 6400 m? ¥ IfE g & St 15 m & & 3ag & IRET (m #) 7 $ifEw?

Ans X1.180
v 2 126
x3.120
x4.160

Question ID : 65497816983
Chosen Option : 2
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Q.12 #rr v 7 a8 o # 5 T F ST TEUET A 3T B ¥ Rftew uensAr # AmAitea g 3y o
#r TEIT F g T ¥ T T T ffew # 3w 59 9o &7 e et

weqrr aoles A ad 2014 & 2018 % N

E avarifiia @V v arEt 61 dean
ars
400 380
ﬁ 350 300 325
’E 300 e 250 260
%0 225 225
E : I I I I I
150
£ o I
o
o
% 2014 2015 2016 2017 2018

" HMTTA = fiewTTB

HEa A F 2015, 2016 3T 2018 & chue araifeea (w7 aw) g amer orEt i g = e, g
B & 2015 & 2t aHT%a g I o7 #r T ¥ e 9fEE (SaFes F TR WE 9F) F4 27

Ans X 1.18.5%
2 22.2%
X3 25.8%
X4 26.7%

Question ID : 65497816989
Chosen Option : 2

Q.13 30 feemfiat # ve e #, 60% wEfhar AR 9w = &) wE & dHEd SR ol & e o
5% wfw ¥ ofr weir Remfat &1 st 91X 51k &, & w=fFat & sitwg 81 (kg #) Braer geme

Ans X 1. BB
v 2 50
X3 475
X4 525

Question ID : 65497816971
Chosen Option : 2

eiililort 2hlelop[22 -2l @ Am W w
Ans @115

X210

X3 5

x4 12

Question ID : 65497815573
Chosen Option : 1
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Q.15 4aﬁ?wﬁm9®mm§vmmﬁmmﬁmsmﬁmmimm
1, 10 @fFg ofy 3 R & Fea 97 §, O 3= 9RRe e o T/ w7 e

Ans  x 1 3
X2 4
X35
N

Question ID : 65497816966
Chosen Option : 4

Q.16 vx EEER FAY F1 S5 60 m? 3T AT 34 m ¥ HEEER FAT F BEr & 99, v 9
& 3= & aua ¥ 3 S F AT (m F) = A

Ans X 1. B4
%2100
X3 44
¥4 B2

Question ID : 65497816982
Chosen Option : 4

Q.17 Gr=ifrg &7 7% & 5 I & 2w FEaET A T B F RfeeT wswwAt #§ AmifEg @ are o
HEAT S gelar T ¥ ATE & 3euTs P AR 3Ed FEfa 99 & I e

Heqrr aslre 7 ad 2018 & 2018 % o

E Arifa o ard grat €1 dear
G 360 375
350 125
'E i 0 i
50 50
0 % 5
’E W 1e0
150
£
50
o
i 2014 2015 w016 w017 2018

" OHEMTTA = #ENTTB

TEAE A # 2015 3T 2018 F 2w FAET @9 I ©TST $T T F, TR B # 2014 3t 2015
F 2R AT g T oTH # WA F AT F4T gem?

Ans 112 : 13

X 2.3 217
X313 ; 12
X4qF : 43

Question ID : 65497816988
Chosen Option : 1
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O ety (5+ 1) F I FL
7 3 5 7

Ans 5

x1 2
7

2 -3
X3 3
200

4, o T

567

Question ID : 65497817794
Chosen Option : 2

Q19 263,800 #r wmTflr # A T B & @17 4 : 7 F 39 F e A0 ¥ B F BTH A Brah amwiy
(T A) 7w=m?

Ans X 1. 23,200
X 2. 17,400
v 3 40,600
X 4 25,000

Question ID : 65497816976
Chosen Option : 3

Q.20 & Tfr 10% =% =ur=F % 9X, SO HT FUET TGF IUT 9T FT T W, 4 6 F 329,282 7
s ¥ 3E Tf F GEET FE W, FAW SO o ® 9 a6 A wuner @ (€ #) feaer s @em?

Ans X% 1.18,000
v 2. 20,000
x3 21,500
x 417,000

Question ID : 65497816979
Chosen Option : 2

Q.21 The median of a set of 7 distinet observations is 16.5. If each of the largest 3 observations of the set is increased by 5,
then the median of the new set:

Ans X 1. is decreased by 5
X 2. is five times of the original number
« 3. remains the same as that of the original set

X 4. is increased by 5

Question ID : 65497816981
Chosen Option : 3
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Q.22 e 3 T B B 7% TEOe & BT TE A § UF & FAT W AT % A §1 T A |, '
B # g 90 km B #ar & =rw, Maw ¥ 3 km SR g&r FA ) har T B 7% wguh § IR @
T & A9 HF I £, 3¢ W #1 2 B § 15 km vge e §1 ofer & oamer (kmh) 7 e E2
Ans X1 6
X2 Th
X3 9

« 4 105

Question ID : 65497816968
Chosen Option : 4

Q23 #F % wf¥ kg FHew # 20% H HA AF F FWoT TA W00 F 5 kg 3w A whed # waA B
B AT A (kg A) T O

Ans o 1. 20
X 2. 40
X 3. 50
X4 30

Question ID : 65497816973
Chosen Option : 1

Q24 vw =T & arge @lear &, 5w & 9% & 757 3,000 ¥ 3¢ U I A 5% & o W HR
Tl # 10% & @y | AT §) g omr 1 @l sfrew ww He?

Ans »1. 2.5% @It
X2 10% gIfer

<3 2.5% ©meT
K4 o o, F g

Question ID : 65497816974
Chosen Option : 1

Q25 o g # @ swfeart & R 93 el & e 4 0 9 un IR S gU AR Y 984321 Fa
e g, & g gU SEiEER A F R A3F 9o ger

Ans X1 912577
<2 421797
X3 571279
4 437476

Question ID : 65497816977
Chosen Option : 4
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